P20F EHRIZBESBINR

QERR29%F4 8>
(87 - )
X & B8 |XxHIEHB 53 & 1 o= = B £ %8
48158 = B |TmEMHaRRRBA 6,500
48218 & #H  |pEYIIEE 10,000
48218 & B |[RRUEBREXREIZEEIHRES 5,000
43234 = B |[IREVINEPERYS VBT 5,000
48248 & B |ThBenEEERRRBA 7,000
48268 &= & [EREAR20EATF H#EBEXI ERRBA 10,000
=] st 43,500
CER295F58>
(81 M)
x & B |<xEHBHE z £ 1 & x B & %
58138 &F H ([TEUEZEEEEZER 10,000
58138 = E |MK&#= 6,000
58248 = & |[BRTOoH/Mtoy -5 OKksE [BEAREBYEFE) 3,000
58258 2 B |PEREcwtns  PRERENRAERTHSE (EIHhREAEDE) 5,000
58258 & B |[UEHXREZEHERRRIBRE 7,000
58268 = B |hEIasRRRBR= 8,000
58288| & # |HEbhBSEETSSA 10,000
=] 5t 49,000
= 5t 92,500
QER29%F63>
(87 : )
X &8 B | xEHEBHB 53 £ 1 = % B £ %8
6848 & B |FXRBEELESESSRRERBMAS 5,000
eBA58| & & hZgd=] s (BENERFE) 3,000
6868| & o fft |NENEEICH DHPRASEGSD 18,000
689H T & |hEE 12,000
6A98| & @ ft |(HIBESLBICHDOHPRANES 10,900
638238 & H  |JThiEsEE 10,000
6A27H| &= B |ThilHEassRRBA 5,000
68288 & B |TRAEZSREZSEHFESSERBRE 9,191
=] 5t 73,091
= 5t 165,591




CERR29F 7R

(87 :
X &8 8B | XEEB 553 £ 1 e X B F %8
7THR168 = B |FE20mMRKAEEDIE 4,000
TB248| &= # |ReELEERESERRRRE 7,000
78278 2 O # |[BXR@EBiH[BICHEDP RBSEGSR 20,000
=] &t 31,000
R 5t 196,591

CERR295FE88>
(8h7 0 )
X &8 8B | xEEB 53 ! 15 & X B F %
8B6H| &= B |FoohlBEEEMIEEIAETEERESS 5,000
88178 & # |FREEERMIBIICEREZFEREIRE 2,000
88228 & B |cHtXEERASHEEERREESARSLOERRHIE 5,000
8H30H &5 #H |[RETES 5,000
=] gt 17,000
= gt 213,591

CERR29F9/>
(847 0 [
X 8 B | <xEEB 553 uw 15 & x B £ %
9H15H F B |hERsESERES 5,000
o218 & B |[BItEERRESEmESERERERS 5,000
98298 & B |[RRBUEREXREIZERERIRS 7,000
=] gt 17,000
= gt 230,591

CERR29F102>
(817 1 )
X 8 8B | <XEEB = £ 1 & X B F %
108218 = & [HUNzWAS s RaVBDREEEERSBE 5,000
=] gt 5,000
= gt 235,591

CERR29F11 8>
(817 : )
X & B8 | XHIEB = £ 1 & X B E %
11898 & #H |HEEZERFTESEXR ([BIMEAESH] 5,000
118148 &= & |hBAISTEEERERBMHERRRIBRE 8,000
118188 &= £ |mZEBEXEREEER60EFIRITS 4,000
=] gt 17,000
= 5t 252,591




AER29F 128>

(8fi1: M)

X & B8 | XHIEB = £ 1 = < £ %
12818 & #H |TFPBERNESES 10,000
12828 & & |[MKERRRHR= 6,000
1288H| & B |WEDNK HERZE5<IEE BRRBMA 6,000
128148 & & |[mMIYIN—AMEIVI—LBERRIBE 5,000
128158 & & |HHRABFKEBIRIMS 5,000
128178 & B |LWRENERRERBRR 5,000
128198 & & |RESASHRIIEDT—IY3v IIERRBRE 5,000
128218 & B |Fixcs=sRBE 5,000
128298 &= £ |fR/y0B6ERRMA 5,000
128308 M B £ |[BUSHERERZEZRNS 10,000
=] 5t 62,000

= 5t 314,591

CES0E1 B>

(8f71: M)

X & B8 | XHIEB = £ 1 = < H £ %
1888 & & [LE=f= 5,000
18118 & B |REAMERAFTAEILS 5,000
18118 & B |HhExEZ8 -  hEtiARECEEZSRERHBE 7,000
18158 & & |hEkEsasFails 10,000
1818H| &= B |hBEsEEaRRRBA 6,000
18208 & & |[BEEHR—IMNSIYTr PEBRIBE 3,500
18258 & & |BRBISAZVIDSTRBRBRR 8,000
1826 & & |SENIEFSRREXRBA 5,000
5 5t 49,500

K 5t 364,091

AERRS0F23>

(87 : )

x B B |x®BEB = £ 1 o= < H £ %
2A18| & B |REBIKRFZHAEORRRBA 5,000
2888 &= B |E29FER20REMEAGBHR ESRRERIRS 7,000
28128 & B |NEFHBENIISENRER 10,000
28158 & E |BBXSAAVXOSITERRIBS 3,000
2A17H| & B |BREBERKEREREIEFIN=NEA 20,000
28198 & # |[TAZRMXBERESE 5,000
28208 & & |2018FCIE8FvOAI/I\—F 1 — 5,000
=] 5t 55,000

E 5t 419,091




AERR30FEIS

(87 D)

X & B8 & 15 8 = | 15 e < £ %
3848H| & B |ERIIMKBHSNESSNEs 10,000
3A9H| & B |PEIREEEREREINIRSEDRRRIBME 5,000
3810 & & |hHERasRRRBA 6,000
38108 & # |HEEmE&chBIass8l0RRBRBE 6,000
=] 5t 27,000

= 5t 446,091




